Subject: Re: Storing INULL in struct
Posted by Lajos Foldy on Fri, 15 Mar 2013 14:02:19 GMT

View Forum Message <> Reply to Message

On Friday, March 15, 2013 9:10:45 AM UTC+1, Tom Grydeland wrote:

>

> IDL> c = List({ t: 0})

> |DL> print, c[0].t

> 0

> IDL>c[0].t=1

> % Attempt to store into an expression: Structure reference.
> 0 Execution halted at: SMAINS$

This is a bug IMHO. This construct should work as a structure array works (LIST is a pointer array
in disguise):

IDL> a=replicate({t:0}, 1)

IDL> a[0].t=1

IDL> print, a[0].t
1

regards,

Lajos
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